s J000000000D0O9-4018-010003,110014

m 0000

<0oo-1>

021 26.5

014x 1

<0oo-2>

0oooobooooobo

014x 1
F
[

¢ 13.

ooooooboo oooo-b10o

AN

N

SO

S5

4000

98 ||
@ 13.5

oooboOooobooobo

33 33 @ 20 37.5
D14x 1 MJ:_'I
X
L (=3 m“‘\\\“‘j
< 34
@

oboo0oooooooo

(24.8)

=
==

<0oo-3>

(26.5)
| @ 13.50

=

goo-1ooooooocoobooooboooooOoocoooboboOoooboooon
gbooooooooooooooobooooooo

R1/4(PT1/4

, (1345) ,
(1330)
500 (330) . 500
A
B Q)
(32}
tM

=03

26.5 [C14x 1
%{7 0oooooo
) 110
PF1/4(PT1/400)
é @ 13.5 g e
T
-
IN |
92
LENT
m [0
0000 |00000O0O||00000000 |PRA
0000000 |DDO00000||0000000 |0000000/0000
0000000 |DDO00000||00000000 | 0000000/0000
00000000 |DDO00000||00000000|000000
0000000 |DD00000||000000000|0000000
0-000 (00000 00O 0oooooo
0000000 |00000000000000 ||OO OO 0o0o0ooono
000000000000 |0000000/00000 ||{0D00 (0000000
00000000 |0000000/0000
m [0
0ooooo 50 0300
0ooooo 0.200a
oooo 0(00000000000)
oo 190g
0ooo 00000D:0300
000000 :2.50
R1/4(PT1/4 0ooo:IN,ouTd
PTL/400(20)00

==

2200502



00000000000

tgooooos

0] O D)

ogoooooo»>

0ob

0000[MPa]

0.05

0.1

0.15

0.2

0.25

0.3

00 [L/min]

1.6

2.8

4.2

5.2

6.2

6.8

OOL[O]

0.25

0.5

0.75

1.0

00000 [emm]

19.5

26

35

42

50

0000[MPa]

0.05

0.1

0.15

0.2

0.25

0.3

fgoooooooogoos

||DDDDDD

Cooooooobooooo»>

00 [L/min]

0.4

0.9

1.4

1.6

1.8

2.2

00000 ([@mm]

0000[MPa]

0.05

0.1

0.15

0.2

0.25

0.3

00 [L/min]

1.6

2.3

2.8

3.2

3.6

3.9

ooere ]

68

70

74

76

78

80

000000 [mm]

2.3

0000[MPa]

0.05

0.1

0.15

0.2

0.25

0.3

00 [L/min]

2.8

3.6

4.2

4.9

5.4

5.9

ooepr ]

52

62

72

74

78

80

2200502



